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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.

Section 'B' consists of short-answer-type questions and Section 'C'

consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two

sentences.        (1x10=10)

ç'u 1- izca/kdh; fu;a=.k gsrq fdldk rqyukRed v/;;u vko';d gS\
Comparative study of which is essential for managerial control?

ç'u 2- fcu i=d dks fdl vU; i=d ds uke ls Hkh tkuk tkrk gS\
Bin-card is also known by which name?

ç'u 3- gkYls izhfe;e ;kstuk dk izfriknu fdl o"kZ esa rFkk fdlus fd;k Fkk\
Halsey Premium plan was invented by whom and when?

ç'u 4- fLFkj O;; fdls dgk tkrk gS\
What are standing expenses?

ç'u 5- fcØh ij ykHk dk lw= fyf[k,A
Write formula for profit on selling price (S.P.).
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(iv) 4]40]000 :- dh vuqekfur fcØh ij ykHk
Profit at an estimated sales of Rs. 4,40,000

(iv) 8]00]000 :- dh fcØh ij lqj{kk lhek
Margin of safety when sales are Rs. 8,00,000
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ç'u 6- viw.kZ Bsds ij gkfu dks fdl [kkrs esa varfjr fd;k tkrk gS\
Loss on incomplete contract is transferred to which account?

ç'u 7- olwyh ewY; fdls dgk tkrk gS\
What is realisable value?

ç'u 8- ;fn ykxr ys[kksa ds vuqlkj ykHk 12000:- gks ,oa dkj[kkuk mifjO;; dh
vf/kd olwy dh xbZ jkf'k 3000 :- gks rks foŸkh; iqLrdksa dk ykHk fdruk
:- gksxk\
If profit as per cost accounts is Rs. 12000 and the amount of office overhead

over recorded is Rs. 3000, then what will be the profit as per financial

books.

ç'u 9- fu;a=.k ys[kk D;k gS\
What is control Account?

ç'u 10-okLrfod foØ; rFkk lefoPNsn foØ; ds varj dks D;k dgrs gSa\
What is the difference between actual sale and break even sale called as?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word

limit 150-200                                                                                               (5x5=25)

ç'u 1- mRiknu ykxr ds rRoksa dks le>kb,A
Discuss the elements of cost of production.

OR

;fn dPps eky dk U;wure LVkd Lrj rFkk vkSlr LVkd Lrj Øe'k% 8000
,oa 18000 bdkb;k¡ gSa rks bldh iqu% vkns'k ek=k Kkr dhft,A
If the minimum stock level and average stock level of raw materials are

8000 and 18000 units respectively, find out its re-order quantity.

ç'u 2- ^foØ; mifjO;;^ ,oa ^forj.k mifjO;;^ dh ifjHkk"kk nhft,A izR;sd ds pkj
mnkgj.k nhft,A
Define 'selling overhead' and 'distribution overhead'. Give four  examples

of each.
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ykxr ys[kksa ds vk/kkj ij dsoy 19]770 :- ykHk FkkA fuEu vfrfjDr
lwpukvksa dks /;ku esa j[krs gq, foÙkh; o ykxr ykHkksa esa feyku dhft,A

(i) ykxr ys[kksa esa vafre LVkWd dk ewY; 4280 : FkkA

(ii) ykxr ys[kksa esa dkj[kkuk O;; izR;{k etnwjh ds 100% ds cjkcj fy;k
x;kA

(iii) foØ; o iz'kklfud O;; foØ; ds 10% o 0-10 :- izfr bdkbZ dh nj
ls Øe'k% fn[kk;s x;sA

(iv) ykxr ys[kksa esa gkzl 800 :- fn[kk;k x;kA

The profit as per cost accounts was only Rs. 19,770. Reconcile the financial

and cost profits, using the following information.

(a) Cost accounts value of closing stock was Rs. 4280

(b) The works expenses in cost accounts were taken as 100% of the

direct wages.

(c) Selling and administrative expenses were charged in cost accounts

at 10% of sales and Rs. 0.10 per unit respectively.

(d) Depreciation in the cost accounts was 800 Rs.

OR

fuEufyf[kr lead ,d y?kqfuekZ.kh daiuh ls lacaf/kr gS%
The following data is related to a small manufacturing Company :

fuf'pr ykxr       Fixed Cost 160000

ifjorZuh; ykxr     Variable Cost 60% of sales

x.kuk dhft, %
Calculate :

(i) ykHk ek=k vuqikr P/V Ratio

(ii) lefoPNsn fcanq  B.E.P.

(iii) 20000 :- dk ykHk vftZr djus ds fy, fcØh
Sales required to earn a profit of Rs. 20000
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OR

fuEufyf[kr lwpuk ls ,d vkjk fey ds fy, e'khu ?kaVk nj fudkfy,%
From the following information work out the machine hour  rate of a saw mill :

 :-

(i) vkjk e'khu dk Ø; ewY; 90000

Purchase of the saw machine

(ii) jsYos HkkM+k o  <qykbZ  6000

Railway freight and carriage

(iii) e'khu dk thou izfr o"kZ 2000 dk;Z'khy ?kaVksa ds vk/kkj ij 10 o"kZ

 Life of machine 10 yrs. at 2000 working hour per year.

(iv) ejEer O;; gkzl dk 50%

Repair charges 50%  of depreciation

(v) fo|qr 'kfDr dk miHkksx-izfr ?kaVs 10 bdkbZ@  2 : izfr bdkbZ

Consumption of electric power - 10 units per hour @ Rs. 2 per unit.

(vi) fpdukbZ rsy 8 ?kaVs ds izfrfnu ds fy, 4 :

Lubricating oil @ Rs. 4 per day of 8 hours.

(vii) mi;ksX; LVkslZ 8 ?kaVs ds izfrfnu ds fy, 20 :

Consumable stores @ Rs. 20 per day of 8 hours.

(viii) e'khu lapkyd dh etnwjh 8 ?kaVs ds izfrfnu ds fy, 40 :

           Wages of machine operator @Rs. 40 per day of  8 hours.

(ix) e'khu dk LFkkiuk O;; 4000 :

Machine Installation Charges.

ç'u 3- Bsdk [kkrk dk uewuk nhft,A
Give a format of Contract Account.

OR

31 ekpZ 2016 dks lekIr gksus okys o"kZ ds fy, vfer ,aM da- fy- ds ys[ks
fuEu lwpuk nsrs gSa :-

The account of Amit & Co. Ltd. for the year ending 31 March 2016

shows the following :-
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                    Process A    Process B

buiqV 40 iSls izfr bdkbZ dh nj ls bdkb;k¡
Input @ 40 paise per unit (in units) 40000 -

izR;{k lkexzh Material Used (in Rs.) 8000 2800

izR;{k Je  Direct labour (in Rs.) 12200 14000

fuekZ.kh O;; Manufacturing exp (Rs.) 3080 1000

fufeZr mRiknu bdkb;k¡ Finished output (in units) 39000 38500

Lda/k 1 tuojh 2006 ¼bdkb;k¡½ 4000 6000

Stock 1 Jan 2006 (in units)

Lda/k 31 fnlacj 2006 ¼bdkb;k¡½ 3000 8000

Stock 31 Dec. 2006 (in Units)

Lda/k ewY;kadu 1 tuojh dks ¼izfr bdkbZ :-½ 0.90 1.47

Stock valuation 1 Jan (Per unit Rs.)

vafre Lda/k dk ewY;kadu 31 fnlacj dks o"kZ dh izfØ;k [kkrs }kjk iznf'kZr
ykxr ij fd;k x;kA vko';d [kkrs cukb,A
Stock on 31st December are to be valued at cost as shown by the year's

process accounts. prepare necessary accounts.

OR

^ifjpkyd ykxr^̂ fof/k ls D;k vfHkizk; gS\ ;g fdu fdu m|ksxksa esa viukbZ tkrh gS\
What is meant by " Operating costing"? In which industries is it used?

ç'u 5- ,d daiuh dk O;kikfjd ykHk-gkfu [kkrk fuEu Fkk %
The Trading and Profit Loss Account of a company was as follows:

   Trading and Profit-Loss Account

Rs. Rs.

Ø; (Purchase)     Rs.25,210

¼&½ vafre jgfr;k foØ; (Sales) 50000

Closing stock     Rs.   4080 units@Rs. 1.50 each 75,000

21,130 NwV izkIr
(Discount Received)    260

izR;{k etnwjh (Direct Wages) 10,500

dkj[kkuk O;;(Works Expenses) 12,130 Hkwfe ds foØ; ij ykHk
    foØ; O;; (Selling Expenses)  7,100 Profit on sale of land       2340

iz'kklfud O;;
(Administrative Expenses)  5,340

gkzl (Depreciation) 1,100

'kq) ykHk (Net profit) 20,300

77600 77600 P.T.O.
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        Rs.

lkexzh Material  60,000

Je  Labour  80,000

vlkekU; O;FkZ le;  Abnormal Idle time    5000

vU; vizzR;{k O;; Other Chargeble Expenses    4000

dkj[kkuk mifjO;; Factory Overhead  15,000

dk;kZy; mifjO;; Office Overhead  10,000

fcØh ,oa forj.k O;; Selling and distribution Expenses 5000

vk;dj  Income Tax            7500

/ku dj  Wealth Tax            2500

nku  Donation            4000

lafnX/k _.kksa ds fy, vk;kstu
Provision for Doubtful Debts 2500

eq[; mifjO;;] dkj[kkuk ykxr] mRiknu ykxr o csps x, eky dh ykxr
fn[kkrs gq, ,d fooj.k i= cukb,A
Prepare a statement showing Prime cost, Work cost, Cost of production

and Cost of Goods sold.

ç'u 4- la;qDr mRikn ,oa miksRikn esa D;k varj gS\
What is the difference between joint product and by-product?

OR

YkkWx cqd D;k gS\ nSfud ykWx cqd dk uewuk nhft,A
What is log book? Give the specimen of daily log book.

ç'u 5- ,dhd`r ys[kkadu ls vki D;k le>rs gSa\
What do you understand by Integrated Accounting?

OR

lefoPNsn fcanq dh :i;ksa esa x.kuk dhft, %
Calculate Break-even point in rupees:

  I yr   II yr

foØ; Sales 80,000 90,000

ykHk Profit 10,000 14,000
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VªSDVj dk ewY; 20]000 : Fkk rFkk ml ij 15% izfr o"kZ  nj ls gkzl pktZ
djuk FkkA iz'kklu o dk;kZy; O;;ksa ds fy, dkj[kkuk ykxr ij 10%

izko/kku djuk gSA
The contract price was Rs. 90,000 and the contract took 13 weeks in its

completion. The values of  loose Tools and stores returned at the end of

the period were Rs. 200 and Rs. 3000 respectively. The plant was also

returned at a value of Rs. 16,000 after charging depreciation at 20%. The

value of tractor was Rs. 20,000 and the depreciation was to be charged to

the contract @ 15% per annum. The administration and office expences

are to be provided at 10% on work cost.

OR

ykxr i= D;k gS\ blds ykHk D;k gSa\ dkYifud vadksa ds vk/kkj ij ,d oL=
fuekZ.k m|ksx ds ykxr i= dk lgh izk:i rS;kj dhft,A
What is cost sheet? what are its advantages? Prepare a cost sheet of a

cloth manufacturer in proper form with imaginary figures.

ç'u 4- ,d daiuh dk mRiknu nks izfØ;kvksa ls xqtjrk gS ftUgsa Øe'k% ^v^ rFkk ^c^
dgk tkrk gSA fiNys vuqHko ds vk/kkj ij lacaf/kr izfØ;k esa lfEefyr gksus
okyh bdkb;ksa dh la[;k esa {k; dk izfr'kr bl izdkj fu/kkZfjr fd;k x;k
gS % izfØ;k ̂v* 2%] izfØ;k ̂ c* 5%] izR;sd izfØ;k ds {k; dk vof'k"V ewY;
gSA izfØ;k ^v* dk {k; 10 : esa 100 bdkbZ;k¡ rFkk ^c* dk {k; 20 : esa 100
bdkbZ dh nj ls fcdrk gSA 31 fnlacj] 2006 dks lekIr gksus okys o"kZ ds fy,
fuEu lwpuk miyC/k gS %
The product of a company passes through two processes which are called

A & B respectively. From past experieuce the percentage of loss which is

computed on the number of units entering the process concerned is :

Process A 2% and process B 5%

The loss of each process possesses scrap value. the wastage of process

A is sold at Rs. 10 per 100  units and that of process 'B' @ Rs. 20 per 100

units. The following information is available for the year ending 31st Dec

2006 :

P.T.O.
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Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word

limit 300-350                                                                              (8x5=40)

ç'u 1- lkexzh fu;a=.k ls vkidk D;k vk'k; gS\ blds mís';ksa ,oa vk/kkjHkwr fl)karksa
dk o.kZu dhft,A
What is meant by material control? Describe its objectives and basic

principles.

OR

fuEufyf[kr esa ̂ ckn esa vkuk] igys tkuk^ i)fr }kjk fuxZfer 'X' lkexzh dk
LVksj ystj [kkrk fn[kkb,A
Show the 'Store Ledger Account ' of  'X' material issued on LIFO method

from the following ;

                Receipts          Issues

Date                  kg        Rate per Kg           Date  kg

July(Balance)200 5.00 July 6 150

July 15 100 5.25 July 30 100

Aug 8 400 5.50 Aug 10 200

Sep 10 200 6.00 Aug 30 100

Sept 30 250

15 tqykbZ dks Ø; dh x;h 5 fd- xzk- lkexzh nks"kiw.kZ ik;h xbZ o 2 vxLr
dks foØsrk dks okil dj nh x;h A fuxZfer lkexzh ds de rkSyu ds dkj.k
30 flarcj dks tkap djus ij 2 fd- xzk- lkexzh vf/kd ik;h x;hA
5 kg material purchased on 15 July was found to be defective and returned

to vendors on 2 August, 2 kg were found to be surplus on checking on 30th

September due to short weighing of material issued.

ç'u 2- fuEu lwpukvksa ls ,d mRikn dh gkYls izhfe;e ,oa jksou izhfe;e ;kstuk ds
varxZr dkj[kkuk ykxr dh x.kuk djsaA
From the following  information, find out works cost of a product under

Halsey premium scheme and Rown Premium Scheme:
P.T.O.
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izekfir le;  Standard Time 8 hrs.

okLrfod le;  Actual Time 6 hrs.

izfrfnu ?kaVk etnwjh ij  Rate of wages per hour Rs. 5

mRikn dh lkexzh ij ykxr Cost of material of product Rs. 50

dkj[kkuk mifjO;; izR;{k etnwjh dk
Factory overheads of direct wages 200%

izhfe;e dh nj  Rate of Premium 50%

OR

dk;Zghu le; ls vki D;k le>rs gSa\ lkekU; o vlkekU; dk;Zghu le;
esa varj Li"V dhft,A buesa ls izR;sd dk ykxr ys[kksa esa vki fdl izdkj
ys[kk djsaxsA
What do you understand by Idel time? Distinguish  between normal and

obnormal idle time. How would you deal with each of them in cost accounts?

ç'u 3- fuEu lwpuk Bsdk la[;k 123 ls lacaf/kr gSA ;g ekurs gq, fd Bsdsnkrk ls
cdk;k /ku izkIr gks x;k] vki Bsdk [kkrk o Bsdknkrk [kkrk cukb,A
The following information is related to the contract No. 123. You are required

to prepare the Contract Account and the Contractee's  Account assuming

that the amount due from the contractee was duly received:

  Rs.

izR;{k lkexzh Direct Material 20250

izR;{k ikfjJfed Direct Wages 15500

LVkslZ fuxZfer Stores Issued 10500

[kqys vkStkj  Loose Tools   2400

VªSDVj O;; (Tractor Expenses) :

pykus dh lkexzh  Running Material Rs. 2300

Mªk;ojksa dk ikfjJfed Wages of Drivers Rs. 3000

  5300

vU; izR;{k O;; Other Direct Charges   2650

Bsdk ewY; 90000 :- Fkk o Bsds us iwjk gksus esa 13 lIrkg fy,A vof/k ds var
esa ykSVk;s x;s [kqys vkStkjksa o LVkslZ dk ewY; Øe'k% 200 : o 3000 : FkkA
20% gkzl pktZ djus ds i'Pkkr~~ 16000 : ds ewY; dk IykaV Hkh ykSVk;k x;kA
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